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Abstract: The application of RCD circuit in converter can realize low cost and low parts cout .How to design that circuit is introduced.  

Keyword: RCD clamp, Flyback converter  
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ADVANTAGES:  

Fast transient response  

Single pole compensation  



Inherent current limiting  

DISADVANTAGES:  

Noise sensitivity to current spikes  

Dual feedback loops  

Slope compensation  

Current limit tail  

 
:  

ADVANTAGES:  

Single feedback loop  

Good noise immunity  

Low impedance output  

RDS(ON) highly accurate  

 

DISADVANTAGES:  

Double pole compensation  

Slow dynamic response  

Output caps affect compensation  
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m1=Vs/T  

m2=VoR/LMN         (1.1)  
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Y-CAP, EMI EMI

 

 

    

    

    

    

    

    

    

    

    

    

    

    



    

    

    

    

  

 


